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AN T =4 Z|/100mL 11C| 2220 2 0.030[ 3t
=1 SHE| m/L AP BlER 0.0020] 5}
= 0.19 | mg/L a4z 3000]5}
| SHE| m/L DpUZHMZE A 100]5t
=E = =AE| mo/L A HAMIEelg A
— SHE| mo/L ot oto| gls A
Al ot =HE| mo/L T2 10[3}
as SHE| m/L A 50|35t
et L opAM Al A =AE| mo/L M| 0.50|3}
MM A A 1.6 mg/L TN0|RSE 5.8~8.5
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lHEM| 7 CFU/mL 0.30[3t
e P =4 E|/100mL 0.50]3}
AN T =4 Z|/100mL 1.1C| 2220 23 0.030[ 3t
=t =4dZE| mg/L 0.0020| 35}
=4 =BE| mg/L 3000] 5}
H| A =BE| mg/L 100| 5}
Mie| 5 =4Z| mg/L HAf L gle A
=2 =4dE| mo/L Bto| glg A
Al ot =4Z| mg/L 10|st
as =BE| mg/L 50] 3t
o Lot Al A =BE| mg/L 0.50[3t
MM A A 3.1 mg/L 5.8~8.5
ItE& =8E| mg/L 30|35}
H= =BE| mg/L 2500]|5}
ZEa|at2H &t 0.006 | mg/L 5000] 5
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11.1-E2|22 20| &t 242 m/L 2z=2%= 0.080|3 |2#Z
HE2IZ2zo| g 24| m/L 105t 0.01
EzlZ2z=zo2 242 m/L EEENEEERTE 0.030I3t | 0.002
Cl2=z0t 24| m/L SEEEEEETT 0.10l3t | 0.003
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1.2 EhM| 7 100CFU/mfO| 3t 0 31.0 & 0.3 mg/40| 3}
2.5 AT EHE/100m EHE  |32.343 0.5 mg/£0|3}
3.z EHZE/100m, EZHZE |33.1,1-CIZ220|E3  0.03 mg/L0|5}
4 2AMEHT =HdE/100mf - 34 AtHBIERA 0.002 mg/£0|35}
5.t 0.01 mg/g0|8t EHZE [s5.12-tizzz-3-2zz==z® (0.003 mg/L0|5t
6.2 1.5 mg/00]| 5} 0.15 36.222sto|=20|E 0.03 mg/£0]| 5}
7.H| 2 0.01 mg/40| 5t =HdE 37.CIEZRoIMELER 0.1 mg/40| 5t
8. M2l & 0.01 mg/f0l5t 2ZHZ [38.ClZ2=olMELEZ | 0.09 mg/L0|5}
9.2 0.001 mg/20l5t EZHZE [39.E2IZ22=ZolMELIEZ 0.004 mg/L0|5}
10.A] F 0.01 mg/£0[5} =HZE [40.ZZolME oM E 0.1 mg/£0| 5}
11.32 0.05 mg/f0lst, =HE |41.RETRHL 4.0 mg/40| 5}
12. 242 Lot A A 0.5 mg/L0lst EHZE (424 300 mg/£0| 5}
13 2L A A 10 mg/£0l5t 1.2 43 UZHZE A 10 mg/£0|5t
1422 1.0 mg/£0l5+  0.01 44 HM 25
15.7l=8 0.005 mg/20l5t  =HZE |[45.5 Fol
16.H = 0.005 mg/f0l5t =#HZE |46.72l(Cu) 1 mg/00| 3}
17.CHO|OfX| &= 0.02 mg/f0l8t EHAE |47.M% 5%0|35t
18 mol2lE| 2 0.06 mg/£0l5t EHE |48.MHM(Sol2AHEMH) | 0.5 mg/L0|5t
19.HUEZE|2 0.04 mg/L0l5t EHAE [49.5D0|BSE 5.8-8.5
20.7t8tH 0.07 mg/40lst =HZE |50.0tA 3 mg/00| st
21.ZEE|=20E 0.1 mg/g0l3k  0.020 51.g40[2 250 mg/£0| 5t
22 222X E 0.08 mg/£0l3t  0.016 52. ZURRE 500 mg/£0| 5}
23.1,1,1-E2|Z22=208 0.1 mg/f0l5} 2HZE |53.2 0.3 mg/£0]| 5}
24 H E2IZ2 20| €3l | 0.01 mg/L0l3F EHE [54.247 0.05 mg/£0]| 5}
25 EZ| 22202 0.03 mg/f0lst =HE |565.B % 0.5 mg/£0]| 5}
26.222C|Z222ME 0.03 mg/L0|3F  0.004  |56.& 0|2 200 mg/£0|3}
27.C|lE22 2220 EH| 0.1 mg/L0l5H EHE  |57.YF0|E 0.2 mg/£0]| 5}
28.CIZ222M &t 0.02 mg/folst] =HE [58.1,4-Cto| St 0.05 mg/£0]| 5}
29 Hl 0.01 mg/20lst =2HZE [59.ZEYHEIE 0.5 mg/£0|3}
30.2F4 0.7 mg/f0| 5} =HdE -
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